tion Paper 6

( Questions-Answers)
BUSINESS STUDIES

A Highly Simulated Practice Question Paper for
CBSE Class X1l Examination

¢ Apswer U0 qUEKIONS carrying 3 marks may have about 50 to 75 words.
| Answer to questions carrying 4 marks may have about 150 words.

4 Angwer L0 qUESEONS carrying 6 marks may have about 200 words.

;. Amtempt all the parts of & question together.

SECTION A : Objective Type Questions (1 Mark)

1. Which of the following statements 15 not true?
(a) Stalfing is a never ending process,
[b) Effective staffing ensures success of the organisation.
[c)] HRM is both a line and staff activity.
|d] Recruitment and staffing are one and the same thing.

L The objective of ..., 15 to create a pool of prospective candidates, from which the best
candidate can be selected,
a) selection (b} placement
Ic) training (d) recruitment

3. Which of the following style of leadership provides full scope forinitiative and creativity?
(8] Free-rein style of leadership
[b) Democratic style of leadership
Ic] Autocratic style of leadership
[d) None of the above
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. to . "siock exchange means any body of individuals, vl
‘. m S “rd:_:::ll“‘ il “l“, l:"l.‘.lﬂl"m“ﬂ 'ﬂl’ lh.' pl.]'rp["il_'l- -:11 ﬂﬁﬁlﬁﬂnq, luqulﬁl.::“ll.l‘
Inrl:';T“I:“““ the business ol buying and selling ol securities”, 0 g,
ik
| Securilies Conlracis Requlation Act, 1956
g tes and fxchange Board of India Act, 19892
() Reserve pank of India Act, 1934
(d) The Banking Regulation Act, 1949
g “Off upto 40% on all brands” is an example ol which promotional tool?
ln! Diimunl_- th} U'Ll.ﬂﬂhhf deals
(¢} Rebate (d) Gifts | |
6. Mehak 1s working in a company on a permanent basis. As per job agreemeny ,
. is required to work for B hours a day and was free 1o work overtime. Mgy
worked overtime, due to which she fell ill and had to take leave lrum. her work s
one showed concern and enquired about her health. She _renhsed_ that g,
was fulfilling only few of her needs while some other needs 51\_11 remained 1
fulfilled. You are required to identify the need|(s) of Mehak that still rendained 1y,

fulfilled.
(a) Ph'l,rsiulng"u:al needs (b) Safety needs
(c) Social needs {d) All of these

7. PT Lid is engaged in manufacturing electric bulbs. The organisation is incurpy,
losses. The production department is blaming sales department for poor sales 4,
sales department is blaming production department for delayed productis,
Identify the force that 1s missing in organisation.

{a) Coordination (b) Cooperation
(c) Both (a) and (b) (d) None of these
8. Multidimensional nature of management involves management of ..ciin
(a) work (b} people
{c) operations (d) All of these
9. Which instrument is used as an alternative to bank borrowings for large ap
creditworthy companies?
{a) Certificate of Deposit (b} Commercial Paper
fc) T-Bills (d) Debentures

10. IM Ltd issued prospectus for subscription of its shares for 7100 crores. The issuew:
oversubscribed. Later, SEBI inspected the prospectus and found some misleadin
statement about management of company. Identify the function performed by SEF

(a) Regulatory (b} Protective
(¢) Development {d) Both (a) and (b)
11. Which of these is not a feature of management?
(a) Goal oriented process (b) Pervasive
{c) Futuristic (d) Dynamic
Or Which of the following is not an organisational objective?
(a) Survival (b) Profit

c) Growth (d} None of these
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12. Match the lellowing on the basis of "Feature of planning’

Colummn i s ,':':hmn

A Cioal omsitled piooniks 1 All manager fewrmi i

i Penasin i

. ; ff  Chescen armeeg wadioas ABFRalses

G Involves CoCision-moking i) Selling up ol ciganisational objectves

Codes
A B C M B C

(a) () (i) (i) (b) (i) (iii) (i)

(e} (idi} (i) (i) (d) (idd) (i) (i)
Or Which 15 the fourth step in planning?

(a) ldentifying alternative courses of action

(b) Evaluating alternative courses

(c) Selecting an alternative

(d) Implementing the plan

gead the jollowing text and answer queslion no. 13-16 on the basis of the same.

mﬂmm-MaMUm (MM) Ltd was started to manufacture hand sanitizers during the

sme of pandemic. They established factory near Noida in Uttar Pradesh. The top

management of company decided toputupa notice on the notice-board outside the factory
obs available. In this manner, they were able to hire quickly.

specifying the details of the j o
the time when Covid-19 cases Were rsing, they decided to first get the newly
ducted only if they tested negative for Covid-19.

To train the workers, they decided a famework in which trainee works under the guidance
of a master worker, who would guide the traiFEE and help him in learning the job. Once the
trainee has learnt the job, the master would just observe and instruct him at work to ensure

that they are working as per plans.
method of external recruitment was used by the company?

gince, it was }
recruits tested. They were 10

13. Which
(a) Casual callers (b) Labour contractors
(c) Advertisement (d) Direct recruitment

14. Which step of selection process is highlighted in the text?

(a) Selection decision (b) Job offer
(¢) Medical examination (d) Contract of employment

15. Which method of training was used by the company?

(a) Orientation training (b} Vestibule training

(c) Apprenticeship training (d) Internship training
16. Which element of directing was performed by master worker?

(a) Super\'isil-:rn (b) Motivation
{c) Leadership (d] Communication

Read the following text and answer question no. 17-20 on the basis of the same.
Dipla [Ltft: a cfhmPﬂﬂY_ﬂ?ﬂling in medicines. They lie in the initial stage of value chain and
manufa .hﬂreii E;lEtIin:mes: They have recently produced a mew variety of tablets, which
helps in boosting the immunity of consumers. The CEO of the company called the meeting
of regional head distributors to decide the distribution strateqy
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18, Which factor @ :
India distnibutor ®) Company 1at
jal product related a@ E gk tion rel at
fc) Both {a) and ibl F o ution WaS Stscussed by
49. Which factor affecting choice of channel of distrl e L,
India istributor?
(a) Competition related (b) Market tfd o
{c) Both (a) and (b (d) Environmen related
20. Which factor affecting choice of channel of distribution was discussed by the Sq,.
India distributor?
ja) Company related (b) Product related
(d) Competition related

() Market related
SECTION B: Short Answer Type | Questions (3 Mark

dpor every evening, we have to make sure that they cyp,

2. "Uurasselswulkﬂu’tﬂfﬂlﬂ
statement relates to which function of managemey

back the next morning.” This
Why is it important?
Or Maxwell Ltd is manufacturing auto spare parts on large s¢
! . ale. The company pol
is that 5% of the daily production could be defective. From last two n-_?nm}gfm}rf
mnhueﬂed that about 10-12% of production is defective. Which mﬁs
nagement 1s reinsured to correct the above case? State the procedure tu;

followed to correct the things.
22. Decentralisation 1 ' i
% Wh?m ) EC}J;:“ 1-5 mdmg delegation to the lowest level. It explains the mams
i kg thr&;punslhmues are divided among hierarchical level ’-é
s ﬂldalage oo :: ority throughout all the levels of the organisal T
S Tence tw::en the two on the basis of the following M
rpose ii) Scope
23. Mother of Mr Jai e
manﬂgen:ljeni. arh: ailsnw-:;fn as Vice-President in Leo Ltd. Name th leve
g. Explain any two functions performed by :EE'E‘W i

, B0 importan
subordinates. In 201 ce had been attached to the : .
Officer. He was an MEB';I{: company appointed Mr Franﬁgge?mm .gl'lu'En by
egree holder with an experience l:;s ]:15 Ch&IEI Fxecul
a decade.
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Alter assuming the

snovs thar 10.000 “Ilull'l:;::: o his office, e started campsiern, in which ho collecisd
implemented in dillepen IT;::]rmm emphsyees out of which |50 were selected and
profit of T 150 crore % This campaign lete hed the company an additional

1l Quoting lines from 1l
b Mt Famea W para, identity which principle of managemen was ophed

jful State two positive effects ol this principle

24. Mr A, the director of garment Company

the utilisation of waste material
his manufactunng unit will

15 planning o manulacture bags lor
o ol one ol his garment unit. He decided that
© sel-up in a rural area of Uttar Pradesh, where
_I v 4+
people have very less job opportunities and labour is available at very low rate.

He alsa thought of giving equal opportunities to men and women by employing

:LT' equally in this unit. 1dentify the first three steps of process of staffing for this

SECTION C : Short Answer Type Il Questions (4 Marks)

25, Write short note on

(i) District Forum (il National Commission

26. Which process prepares a blue print of an organisation's future preparations
relating to finance? Give two objectives, why this process is needed?

97. Sana is a young professional employed in a multinational company. Her annual
package is of 76 lakh. Since she lives with her parents, therefore she is able to save a
major part of her earnings. Her friends are constantly advising her to invest in
shares. But, she is not aware about the nitty-gritties regarding the functioning of the
stock-exchange. So, she decided to invest in equity through the primary market,
assuming that this will help her to earn stable dividends. But her father, who was a
retired bank officer told her that even dividends are not stable as they are affected by

several factors.

(i) Is Sana's father right in his assertion?

(i) Explain the following as factors affecting ‘dividend decision’
(a) Stability of dividend ib) Legal constraints
(c) Access to capital market

28. Write a short note on organising.

Or Define planning and discuss any three limitations of planning.

29. OTCEI is an exchange established on the lines of NASDAQ to provide
quicker liquidity to securities at fixed and fair prices. What are the advantages of
OTCEI?

30. Define scientific management. How it can be beneficial for the employees?

Or
(i Name the technique of scientific management which emphasises on the
elimination of unnecessary diversity of product,
{ii} Also, explain three of its benefits,

(iii) The technique given in part (i) is a part of combination of two techniques.
Name and explain the other technique as well.

¥y v 9
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garment manufaciunng company ol the rountp,
anstantly updating their technology, SO that lates
weel in their products.

has just jmported certain higy ,

are unable to work g, "
18
|

SECTIOND: Long

3. Stichwell is a leading
company beheves 0 €
modern designs counld be incorpord
To keep in line with \heir mission, the company

’ ! 3 the lactory
machines from Germany. But the workers ol _
ways demanding help from the supervison

machines and ar al !
i i ; nores th

The supervisor is overbu dened with their frequent calls and ignOTes te proby,,,

ol the workers.

{i} “The posl of superv

mm? - - i
{ii) Explain the role of the supervisor in the crganisation.

(iii) Suggest some remedies in this case 10 the supervisor.

32. As a project work in marketing management, the MBA students of IIM thougy, 4
preparing apple jam from the apples grown in their school premises and slall iin i,
school annual fate, They approached the principal who not only appreciated iy,

but also gave his consent for the same.
of the revenue generated from thesaletoa nearp,

The school decided to donate 50%
the school also decided to extend this project 1,
I

orphanage. After the school fete, _
providing employment to visually challenged and disadvantaged sections of socie,

on regular basis.

(i) Explain any two produ
(i) Suggest any two functions that the

I.r|r|

isor should be abolished in the hierarchy of managers.” [y,

ct-related decisions which the students had to take,
Nabel’ of the jam bottle must perform,
Or

ted as the marketing head of Automobiles Ltd, manufacturers g
cars and bikes. His sales target for a newly introduced bike was 20,000 units ;
month. For this, he involved new channels of distribution. But, he found that th,
target could not be achieved. Therefore, finally, Antomobiles Ltd offered to sell they;
new bike, at about 7 4,000 less than the usual price.

It is an Ex::imple of one of the techniques of sales promotion, Name the technique
and explain any two other techniques with examples. Also, write any two benefiis

that firms get from sales promotion techniques.

33. .::Ieha and .REkhEI entered into a partnership business for manufacturing leather
dags. Their products have been enjoying good market reputation. Separae
epartments have been created for production, marketing, finance, human resource
and re:ea:ch. The brand name was well established in the market and the produc
market grew enormously. As the business flourished, they decided to produc
leather jackets and leather shoes. E
!:!j Suggest an organisational structure to them.
(ii} Also discuss the advantages and limitations of such an organisational structure

Or

HHC;I? ]I;::; E;?i h;lls;ﬂb.];l'lz:r;ﬁ;uanuiactuﬂng business. It plans for a guccesshe
year 5 year. It has in advance given targets to all I
:iﬂliﬂn}:&i:ﬁﬂw. the employees know that now they don't have to durgunmncerufﬂ

, which will lead to more focused approach resulting in saving of resourt®

Vansh was appoin




’ gmP” T TR 9

npany is also p i
this ; " made. The Main core team of the
| i : _ 'mpany has
dﬁ“ldﬂiif::‘::ﬂ::':: ::;' ]"lﬂlun.u and then Select the hest aone. ldentify anrl:-::lmn
the three Planning hiahlighte nthe given cage by quotine the lines

standing of
..[tndt“f'i“:md rﬂﬂ % ';‘"““""“NH by business managers enables them to iddentify,
ovaluate : . WCHTO varioys lorees external to their firms.” In the licght of the
statement, explain any four IMportance ol business environment
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